U —UF Dl U™y

BT — 12 fava— | fasm Jafe— 3.15 €S quis — 56
1. Ot TG PUR  —

Gkl I PR gfererd

1. Elk 17 30.35

2, TSI / JAUT 22 40

3. STHIYANT / STt 11 20

4. I / AfTheT 06 10.71

AT | 56 100 gfererd

2. U9l & UhN Td AR —

39 el & UHR gl DI AR | 3 Ui U | fet 3fd | Ulowd | |eIad
K|
1, IS / agfdhedrchd — — - - —
2 SIREENNRIED 13 01 13 2321 |35
3. TLRTHD | 11 02 22 3929 |62
4, TERTHD | | 03 03 09 16.07 |28
5. [BEEIREY 03 04 12 2143 | 45
AN | 30 56 100 170 fATe
fadhed JISTT : JAT<ARD RGBT — 10 A
3. fava o 1 AHUR — g3 U3 Ugl — 15 e
%9 LA SERIN gfererd
1. CISESERl 3 5.36
2. [EEER 3 5.36
3. EECISSIEE 4 7.14
4, SSIDIEEAECIRIN G 4 7.14
5. TS5 XTI 4 7.14
6. d@l & ey & RIgia va UhH 2 3.57
7. p—<iid D I 4 7.14
8. d W@ f i & 3 5.36
9. SERERpIN AR REY 3 5.36
10. EISEEC i 4 7.14
11. STerATSTgad fsharces g (ATT—1) 4 7.14
12. JTerATSTgad fsharcdes WHg (MrT—2) 3 5.36
13, A SIS fhaTetd g dlel def-d D | 3 5.36
14, I 37 3 5.36
15. IgAD 3 5.36
16. BICERSIEE 3 5.36
17. <fe Sfras & e 3 5.36
Bl 3Pb IR 56 100 Hfcrera




A @ [Lak lbkle

BiJ ¢ [ahi kUabbeadb |
MBI

1R QI @ |3k Mblls lleb | |Die IR [ 2316 | dld — e — lkloll [ hodp)

(0€)9s (Ve ©r (+1)ee (sK)LL Llk RD

[ T Qe o] Gz [@ [ 0| - [ ®e [ e @ | - | @ | - [0e]Ee i
(2)¢€ (1)z Or BRIBY ¢ bblin dbld | "L}
(2)¢ (1)z O bRIBY bble] [ 9}
(2)¢ (Ve (1 ®8p | Gl
(e (e fake bin | bl

P Ll
«(VE ()1 +x(1)2 Pl ikgs] boRlin3ElL | gl
«(9)¢ «(V)e (1| (e—lelk) B legs) boBhispblie | 2b
«(M)Y +x()€ +(1)} (—lrlk) I PpRRInble | LI
(€)v (1)z (2)z lopfo Lina [ 0L
(2)¢ 1)z O Dl bin[RRABhA 6
(e) (e)e BD @ bli> [ph p| g
(0P | +5()1 +x(1)E b » bpn—d| -y

hdsK
(e +H) +H) b LIBR @ lnhdak) & [0 | 9
Q¥ (1)1 (1)e bRIRN B | G
«()r +x()2 +x(H)2 \BD|Lb BbjRIB [ b
(@l +)1 (1)e +1)1 bRiby bBE| €
(2)¢ +(—)1 +(1)1 (1)1 bRRp| [ 2
(2)e +()1 +(1)1 O Lizdbie B9 I

VS | IVS | Be VS | 1IVS | B VS | 1vS | B TvS | IVS B
bl B Qe | by Bp Qe | iy Bp Qe | by B Ljie B
Ll bR / Plald bpjioigie / Yelzh|1I5 Ribbi® bls Sle3 he /SlO5 Rade *
9¢ —: mul_.Ew Cl—IRBD _H_._M_& BRIk — RRP|




S ATAAS  gRIeT—2018

T &1 9ea—ua (Model Question paper)
HE—12
fawa— e fasm

CREXICS
Iad— 3 g 15 fase e 56 3iF

uwenflal & fow wmma fader

Genral Instructions to the Examinees :

I. TRETRT WAL AT ST UN A arferarrd: o |

Candidate must write first his‘her Roll No. on the question paper compulsorily,
I w0 v & e 8|
All the questions are compulsory.
I,  9® 93+ & 9w o1 112 FoRygfs J 8 fowd |
Write the answer to each question in the given answer book only
IV. 5 ueHt # SR @os B, 991 W & ST U T B ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
V. v uE S Rl Ul S e g @ e/ oide / fakem B
oY fB=dl wiNr & ued & 8 WEl A |
If there is any error/difterence/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

[+ ]
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VL. wvs Y W 3ih Ud YT
H 1—13 1
El 14—24 2
kil 25=27 3
G 2830 4
Section Q.No. Marks per question
A 1-13 1
B 14-24 2
c 25-27 3
D 286-30 6

VIL wsA @ 24 @2 27 9 30 8 a=aR® fdeey 21

There are interal choices in Q Nos. 21 and 27 to 30.
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S ARIAG  URIET—2018

19 ﬁ DI YA-Uud
HET—12
favg — wrE fagm=
SHHIS CL LTI T 1 11
af— 3 g2 15 e Ife— 56 3iF
e — 3 Group -A
ys 1. [F1 a1 ol RFwET & 9m fofag | 1
Write names of any two interstitial voids

usH 2. 9T @l e &1 vl weA el sl g1 ®Rel & am fafiau |
.

Write the names of any two factors which effect the solubility of gases.

ye 3. of&T e fafer &1 Fmifea o 99mme) 1
Draw alabelled diagram of Bredig's arc method.

U 4, grEBR AT S B BT g ARy | 1
Wirite the formula to determine magnetic moment.

W 5. UM HHHUT AU § HaAlRD U Fed HH {0l sfaver S dlel dedl
& M o | 1

Write names of the elements which show maximum and minimum number of

oxidation states in first transition series.

Y 6. GoiM Hal dedl 1 WHF getagitia = fafhg | 1
Write the general electronic configuration of rare earth elements.

e 7. PIE |1 SHAa=qw (Swag=h) fertst @ A fafag 1
Write names of any two ambident ligands.

ged 8, haiid—112 &1 o feifday | 1
Wirite the formula of Freon-112

ue 9, AIFHR—EHE iR R | 1

‘Write Riemer-Tiemann reaction,
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U9 10, Jeliel 1 RS 93 9 IUPAC A1 ferfau | 1
Write the chemical formula and IUPAC name of Chloral,

T 11, GEAADT ST HERT AT AHR T FRe B g faRaw | 1
Write the formula to determine ‘number average molecular weight” of polymers.

T 12, AT ERRE are FT fheR wemer w3 foafw | 1
Write Fisher projection formula of mesotartric acid.

e 13, oIt & BIR & G farag | 1

Wirite any two properties of Dyes,
wvs — d Group -B
T 14, IR UREHS & TWiied R a9Ed | 9 BF arel W e @
s Ffafmar faftag | 1+1=2
Draw a labelled diagram ot Bessemer convertor. Write the chemical reaction of
self reduction involved in it
e 15, 4vS THgia & JMR R TI6®, FEd U6 Halad & ausEy aell ol
ST F91EY | 141=2
Explain conductors, semiconductors and insulators on the basis of band theory
and draw energy diagram.
ueA 16, () e a e e § @8 a7 arae fafau
(@) 25°C @9 W ARAT B M /25 faR @1 TR &1 §i1d I |
(R=0.0821 L atm k' mol') 1+1=2
(a) Write any two differences between ideal and non ideal solution.
(b) Calculate the osmotic pressure of M /25 solution of urea at 25° C
temperature.
(R=00821 L atmk' mol")
ueH 17, (31) gue O &1 Amifed e gqEe )
(@) PR dehe & g 7 5F 9 o3 g W B dehe HT Al 1
A AT ET ST 87 R I | 1+1=2
(a) Draw a labelled diagram of fuel cell,
(b) Why the blue colour of copper sulphate solution disappears when zine rod is
dipped in it? Give reason.
UeH 18, IUHBHATSd WE! #H 3=+ 9 2lgge WHEAGdl § B1Y U 3 fafiag
Tl Y® @1 U SEBRVT IoTC | YatYatlatl =2
Write any one difference between Tonisation and Hydrate isomerism in

[« ]
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coordination compounds and give one example of each.
T 19, (3) FARMGH F FAREH &M BT IFRE FHE0T 277 |
(@) tfemra 2ams KCN & R sfwirar @vd: Ufewma W91 9910 &,
TAfE AgCN & R Uehd MRS 991 § | BRI WE S |
1+H1=2
{a) Write the chemical equation for preparation of Chloretone from Chloroform.
(b) Explain the reason why alkyl halide reacts with KCN forms alkyl cyanide
while when reacts with AgCN forms alkyl isocyanide,
WY 20. IS HIR BT AFF Foran TS f9g 034 V B @101 M SR o0+ gad faors
& BT Folagia & fawa s1d B | (log 10=1) 1+a+H =2
Calculate electrode potential of copper electrode in 0.1 M copperion solution. If
standard electrode potential of copper is 0.34 V (log 10=1)
TS 21, () FARITIES a7, SIS UHIfes 3 1 gerel H Sferb et S
B, TR
(@) tfeseEs U Ber 1 R W B Al B U RIS A
ferfag |
HeqEr
(31) wriifesags, VHEE @ gormT A ofde ofdfFeriie & wiemgy @9t
(@) wrifcserzs vd Wicfsers &1 fale a9 adl #E @ e
sifafea fafiay | 1+1=2
(a) Explain why fluoroacetic acid is stronger acidic than iodoacetic acid?
{b) Write any one chemical reaction to differentiate between aldehyde and
ketone.
Or

{(a) Explain why formaldehyde is more reactive than acetone?
(b) Write any one chemical reaction to differentiate between formaldehyde and

acetaldehyde,
yed 22, Al aga® & vamad fafau |
(31) ATgel—86, 6
(@) eReir Vot VotVatl=2
Write the menomers of following polymers,
{a) Nylon-6, 6
(b) Terylene
Uz 23 (3) yfafewsdl @ fgafen w\Eee § ue siav fafag |

[=]
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(@) wRoT ST 6 FHe1 FPe—2—39-1, 4—SESES R &1 Tel-id fquer
THEAE ¥ FH FT ST 87 1+1=2

(a) Write any one difference between enantiomer and diastereomer

(b) Give reason why the melting point of cis but-2-ene- 1, 4-dioic acid is less than
It’s trans isomer,
T 24, WG g ATAGE H PR U AR [0 0F gdE BT v IaeoT faf |

Vot Vot Vo2

Write any one difference between soap and detergent and write one example of

each.

@vg — 9 Part-C

we 25, f&d T GERT BT UgwR HEfeaT yeel & TR oy |

“THTAEST WTEReN 7 URfETE UrERer & Uil T TR 10° pm ¥ 10° pm BT
B | BIoMgS! Moo 81 UBR & BN B— 1. FaE! 2 29 [OX | Femgsr drd &
TN HIAES! HOT & SGY T HRYT BT 8 | 39 FU HT SSRIFTEI, Wha
FHEAT & | BIET T Yoot 97 & IR R Tgd Teed & U Bl Whad &mdl &
derl B STl B | gl e @) wvl anar ud w@olie o e e Bl

@) I, PO, €O N @I OTHE B Whed § Wha AT & g6t
4 H Fafted Fifag |

(a) wEEEl T FAfRED PreTgs J PE &1 SR fafaw |

(\) =i & ofg T HHSI 8¢ 1+1+1=3

Read the given paragraph and write answers of the following questions,

*“In colloidal state the range of particles of dispersed phase is 10" pm to 10° pm.
Colloidal solutions are of two types (1) Lyophilic (2) Lvophobic, Stability of colloidal sol
is due to charge on colloid particles. Neutrilization of particles is called coagulation.
Comparision of coagulating power of electrolyte is done on the basis of Hardy and
Schultze’s rule. Protecting capacity of lyophilic colloid depends upen gold number.”

(a) Arrangethe '/, PO, CO," ions inthe increasing order of coagulating
capacity for positive sol,

(b) Write any two differences between Lyophilic and Lyophobic colloids,

{c) What do you understand by Gold number?
w26, a3 7 I@O FT vgHt Eifafad uel & S faRay |

“gepfe # Agdrd H IR S didl FEEEge e © | 98 gad N wygad

[« ]
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ST sl H Aefdr 2| g9d U g8 U 8U SR, vEg a2 &d A1 well d
TR & | 7T R H ST 0.1 Wi @ A H T SUReR # | W s
H SEdaNEs g Ueiags & ©0 H 9UNe 86T & | Y TS SEUaNEs &
Y TEE™ 9 WIS B GAF HEN B6T 8 I8 ACHIHENES ® UE TEN F |
T U MeieaEe 8| 390 T T Ol B TR W@EE BT 8 | e
UF U ST BN @ EROT Sfel 9 Wi AHeHE @ Al T <dr 8

(31) SO FEEEST ® UHR 9050, [oE oTd drged W a1 O Afman
T AFTERIEE THEAT U BT E |

(@) e A sule 9w o W & A fafey, s s 78
e AfTEE & TR USRI gar 2|

() UET # TUReT FRIEESE B 7 HEd §, Ol 99T W W T8 B
27 UF TR ST | 1444+1=3

Read the given paragraph and write answers of the following questions,

“Glucose is a carbohydrate found in huge amount in nature. It existsin both free
and combined states. In free state, it is present in ripe grapes, honey and sweet fruits. In
human blood approximately 0.1 % of glucose is present. In combined state. it is present in
form of diasaccharide and polysaccharide. Sucrose is a diasaccharide having glucose and
fructose in equal amount it is a type of oligosaccharide Starch is a polysacchharide having
olucose but it is tasteless. Glucose is reducing sugar, due to this it gives test with Tollen’s
and Fehling reagent.

(a) Give the type of carbohydrate which on hydrolysis give two or maximum ten
monosaccharide units.

(b) Write the name of functional group present in glucose due to which it gives test
with Tollen’s reagent.

(c) What do we call the carbohydrates present in nature which are not sweet in
taste? Give one example.
WA 27 (1) GRAT & gaa U Sl aTR®RE HIER B §F IS AT Saw
HHEATET |

(@) f=fafaa saa=E sfafear & B3 0 4 a9 B ®1 ugdd &9
RIS A ARy |

__ ~ COOH
2 CH.__coon
CI-C-CI+NH,»A —— B
POCI,
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(d) A @ e e 9 |
ST
(o1) Ufveli=, Wfowmet THM @6 T # TF ARSI B | U IERtTE s
TEN FHAEY |
(@) Frafefaa TomafTs sffem & $7 0 4 T2 B & TS &%
IS 3 feie |

C H.NH, Nl it AT,
grarred 273278k Ol -

() UFTEIA @ SR WRE §s T | 1+14+1=3

(a) Explain the weak monoacidic basic nature of urea by giving one chemical
reaction.

(b) Identify and write chemical formula of 4 and 5 in the following sequence of
chemical reaction.

.~ COOH
(") CH.__cooH
Qi=C=Cl+NH,~s4 —3 B
POCI.

(c) Draw the resonating structures of nitrobenzene
Or
(a) Aniline is less basic than alkylamine . Explain by giving one chemical reaction.
(b) Identity and write chemical formula of 4 and £ in the following sequence of
chemical reaction,

C.H.NH, —Z‘J{L\r‘_’ﬁ%{_, A FCHNH o p
o J - 3= _—L——-—l_}rjf!“

(c) Draw the resonating structures of aniline.

gvg — § Part-D

e 28 (31) Y FIe & At @ ol fafEe | 39d 9 e @ 36
ferieg |

(@) e wHEER A |

(W) U® weF ®ife afdfem o1 a1 Froai® 60 s 2| SH RS Hiwd
B 1 /10 A AR Jqafed BF H A ae am?

Herdr
(1) wfEaor Swt & uiamT foRay | gHaT THaE. s faRw |
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@ g wfe @ qfbfeEa & 90 fFadie (), IRME =Tl (o) @
SERTIETE  (1,,) H WaE S arel qHER R |

(@) um I Fife @ stwhEar § sfwers o Trsar 10 9 6 Aid @iy
B8M 4 <1 WHvS B WHY oAl B A1 99 el o Bt 1+1+2=4

(a) Write definition of zero order reaction. Write unit of its rate constant.

(b) Write Arrhenius equation.
R A s e e ey v e o EHOW THRCH - tiiE will e
required to decompose 1/10% part of its initial concentration.
Or
(a) Write definition of activation energy. Writeits S.I. unit .

(b) Write an equation which shows relation between rate constant (&), initial

concentration () and halflife period (#, ) for zero order reaction.
(¢) Calculate rate constant for a zero order reaction in which 2 second time is

required for change in concentration of reactant from 10 to 6 mol L!
T 29 (3) NeOF | &1 W= a0 |
(@) PH, 1 TeHE NH, S 0 BT 8 HRT AR |
(&) C/, @ XA T Aig NaOH W BF il IRTAS SRR S weesgo
feride |
(7) Bom vEd SifRiBR® B & | R S | 1H1+H1-H1=4
FHeFET
(81) BrF, @1 W= g |
@) HE &1 ®@eHis HO 3 At 2 r 8 sRor i |
(%) Zn @t a9 ANO, ¥ 89 a1l wire afafbar @ witeer falag |
(@) Siferiia U 9 & Fafe Weh o | e S |
(a) Draw structure of YeOF,
(b) Boiling point of PH_ is less than NH_ Give reason
(c) Write an equation of chemical reaction of '/, with hot and concentrated
NaOH
(d) Halogens are strong oxidising agents. Give reason.
Or

(a) Draw structure of BrF,

(b) Boiling point of HF is greater than HC'/ Give reason.

(¢) Write an equation of chemical reaction of Zir with dilute HNC),
(d) Oxygen is a gas while sulphur is solid. Give reason.

[o]
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ue 30 (3) oida fafey fha wsg &7

(@) TEFTA T @G SRR HEF § 9T 2T 8 99EEy 9

(F) 97 Bl & W@ WiAd Wiw ASiod o @ Rl SIAERar wear g7
AR &1 TEEE FHEIT ST |

(2) Tiew fest TepEla @ sy e R |

HETET

(o1) Faferreir <ivemT 28 e TR |

(@) PETA BT i T TR |

(%) == 81 & S B A S0, gy # ofes wrEnges @
[T AT FRAT & | AR @1 T ST e |

(&) offelEsrial &1 asguedl 7m fofag | 1+1+1+1=4

(a) What do you mean by Ziesel’s method?

(b) Explain why boiling point of ethanol is higher than methoxy methane?

(c) What happens when phenol reacts with concentrated nitric acid? Write chemical
equation of reaction.

(d) Write IUPAC name oftertiary butyl alcohol.

Or

(a) Write reaction of Williamson's synthesis.

(b) Explain the acidic nature of phenol

(c) What happen’s when phenol reacts with phthalic anhydride in presence of
concentrated /.5¢), . Write chemical equation of the reaction,

(d) Write IUPAC name of ortho cresol.
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10.

12.

13.

14.

15.

16.

17.

18.

19.

20.
21.

STIRHIAT

P G FRE

BT 4 THEA

M=+ p

waifos & Foira, wad &= 4 Sc 9 Zn
(@ ww)

(n=2) (n=1)d"' ns®

P 1 &7

C.ECH

WAl I

CCL—-CHO 2, 2, 23RN«
wE A

e A

CARECIU|

R + Amiea g 98 sifafmar
TE SR, Sl NG

@) T8 a7 IR

(@) "E MUET G T IR

(a1) Ferar + =i

(@) T BT

@ 3R

TEH—TH FETERT

(o1) e sfafaa

(@) \E FROT

el VAT 9 HEl 9] g% afed
(31) @& HROT

(@) HEI g

[ ]
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1
1

TIEAgEh i
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11
29
99

167

165
168
178
209
202
255
340
387
372
121
18
31
37
63
55

178
201
193

55

269,254,255




22.

23.

24.

25

26.

27.

28.

(1) Ufefia s, BaapIRE™ 82 UdaH
@ TR ToETE, ordfes e
(31) TF 3L

TeH—Yeh FETENTT
@) ¢ <cor <PO]
(@) ®iE T AR

(&) &l g

(@) siferiianEs

(@) Ufeseiss

(W) LRI, BIE Ueh IR
(1) @ u Afpar g dwro
@ A=NH,-CO-NH,

ﬂgu,é:;

CO-NH
B= CH, C=0
N\ CO-NH
) SR A

e

(@) @12 uB sfAfear @ dror
q)  A=CHNCI
B=C,H,~N,—-CH, - NH,

(%) ST A
(31) W ufamn, 51 oiler ' g !

[z ]
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Latla
Vatla

Vot

Lokl

/_+|;‘

Vatlsa

Yetll
Vatla

T

gAY @l
U HeET

52,258,259
332
331
361
354

378
103
97
104
303
301
296
287
288

288

291

279

283

279
71




29.

30.

@) k=Ae R
(@) FE U + WEI URvE 3ER e
31Tt
(31) W&t gfRwm, sper e
o
@ =5
() = AT 4+ WS AR g wfed
(ar) el W
(d) & BT
(|) W& |
(&) |l ERT
3T
(31) W& wHYE
(@) wel BT
(\) a1 wHiET
() W& FRoT

(a1) wEr fafer
(&) @8 RO HRAYS B AR
(@) w2 T
(@) 2—HEEYE—2—3Te
T
(a1) wr arfafan
(@) WE BRI
(W) @& wiE
(%) 2 v
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